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LO: Tor add mixed numbers.
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| can add mixed numhers.

| understand that | must add the whole numbers (integers) furst. then
add the remaining parts.
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D Work out D =+ 3

2) Which is smaller, 2% or Zg ?

3)  How many twelfths is the same as 5 ?
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Y) Write the Roman numeral CXL as an or

number
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Work out ) + 3 O

Which is smaller, 2% or Zg ? [

How many twelfths is the same as

Werite the Roman numeral CXL as ai

number
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Match each number to a description.
Each number can be matched with more than one

description.
IR
Non-unit fraction Unit fraction
Improper fraction Proper fraction
Less than 1 Mixed number
Greater than 1 Incorrectly written
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I’'m going to convert both mixed
numbers to improper fractions first
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I’'m going to add my whole numbers
and fractions separately.

How- many remaining fi,fth,s?
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s I’'m going to convert them both to
improper fractions first

1 11 _18
55 55
1 3_ 29 4
2§+3§— - or5§
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I’'m going to add my whole numbers
and fractions separately.

1,3_4
2+3=5 §+§—§
1 3_c4

Whose method do you prefer? Why?
Have a think
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Torwork this out, lfs Am by Jﬂdw% all the, whote fumbers.
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Q) 75y 0nd Mo are odding mised numben.

G D

Whase method do you prefer?

© compiete the caiculotions.

2 3
a) 1502'—°-

Re2da
ok B |

3
(’ 1:0%-

-
o . Ammuz;mm

",—Olﬁl

Apﬂwmn-mm

B A red ribbon is 155 metres longer thon the yellow i

How long is the red ribbon?

o Colculate the perimeter of the triongle.
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a) What is the total length of the blue and yellow ribbon?

o spool-

d) 6‘_?{,3;, =

Book
Board
Buddt

5.
ZE litres.

6-%0:' methaods.

efficient? Why?

Extension activity :
Jack and Whitney have some juice.

Jack drinks 2% litres and Whitney drinks

How much do they drink altogether?

Complete this using two different

Which method do you think is more

Fill in the mis:

5
— 4
46
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In this rectangle each longer sideis 1 5 m longer |

than each shorter side.
What is the perimeter of the rectangle?




Q compiete the cadivom
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A yellow ribbon i 35 metres long.

a) What is the totol length of the blue and yellow ribbon?

ﬂAMMhlﬁmwmﬂmm
How long is the red ribbon?

Q) couiote the perimeter of the triangle.

Book
Board
Buddt

Boss

Extension acti vity :
Jack and Whitney have some juice.

. 1, . )
Jack drinks 2 ¢ litres and Whitney drinks

5 1 -
25 litres. Fillint/
How much do they drink altogether? 4 -
Complete this using two different
methods.

Which method do you think is more
efficient? Why?







It may dlso be useful to convert and simplify the

improper fraction to a mixed number, giving the
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answer 8§ or 8-
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